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R E 4 ouT IN GROSS | HDCP NET
¥ 1 XE g 40 41 81 12.8 68.2
%* 2 EF B3 45 39 84 15.4 68.6
¥ 3 RER FE 40 40 80 10.8 69.2
* 4 =H E£B 41 42 83 13.4 69.6
* 5 Bl A 45 40 85 14.6 710.4
6 XKixg B 36 36 12 1.2 70.8
*7 AL & 38 44 82 10.2 71.8
8 gl &— 38 39 17 5.1 71.9

9 KU ==& 42 42 84 11.5 12.5
%10 Mp IEB 43 45 88 14.5 13.5
1 Wt Sk 42 41 83 9.1 713.9
12 ARE 44 40 84 9.8 14.2
13 faft [E— 43 46 89 14.4 714.6
14 BH% KA 46 41 87 120 | 75.0
%15 % E= 46 46 92 15.5 16.5
16 e B— 41 40 81 4.3 16.7
17 £H =R 41 37 18 1.2 16.8
18 B3 EA 50 42 92 14.7 17.3
19 R IEJA 40 41 81 3.6 17.4
%20 PAE #k¥E 50 44 94 16.3 11.7
21 INEPER B R 45 42 87 9.1 17.9
22 Rix = 46 47 93 14.4 18.6
23 XiB =F 45 48 93 13.7 79.3
24 =% F0al o1 45 96 16.1 79.9
%25 THE —F 42 50 92 12.0 80.0
26 il EE 44 45 89 8.0 81.0
27 w5 49 45 94 12.6 81.4
28 HA = 45 48 93 10.4 82.6
29 BR BL 47 47 94 11.2 82.8
%30 BMH IFE 92 46 98 15.1 82.9
31 AAXRE o1 45 96 12.0 84.0
321 HE Z=—HB 47 o1 98 13.8 84.2
33 Mg IE— 48 51 99 13.2 85.8
34 BA #x 44 47 91 4.3 86.7
35 INFK R 92 o1 103 15.6 87.4
36 ¥ B5 49 50 99 9.9 89.1
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X E 4 ouT N GROSS | HDCP NET
*1 =& ¥ 44 50 94 | 271 | 66.9
*2 I EE 43 44 87 | 18.0 | 69.0
%38 tH —EHR 44 47 91 | 21.9 | 69.1
* 4 WH ET 45 44 89 | 198 | 69.2
*5 X5 & 44 45 89 | 19.7 |693
6| FFE FA 48 44 92 1209 | 711
*7| K& B— 48 42 90 | 18.1 | 71.9
8 BEAX IRF 49 49 98 | 26.0 | 72.0

9 HE FF 47 50 97 1244 | 726
*10,  #BE P 45 49 94 | 20.2 | 73.8
) ME M= 45 47 92 | 18.0 | 740
12 #E FIR 48 49 97 | 23.0 | 740
13| M & 52 50 102 | 276 | 744
14| K i 41 46 93 | 184 | 746
*15| XY AF 50 48 98 | 234 | 746
16) fEh =Th 48 46 94 |1 19.0 | 75.0
17) ¥z K 46 53 99 | 228 | 76.2
18 ¥E #EE 59 57 112 | 345 | 715
19 EF SEE 52 49 101 | 23.0 | 78.0
*20]  3Rm F 56 54 110 | 31.9 | /8.1
21 T &k 58 48 106 | 276 | 784
22 A KR 51 45 96 | 175 | 785
283) HE A 56 49 105 | 26.4 | /8.6
24 JIIIR E—HR 53 50 103 | 233 | 79.7
%25 F{F BEF 52 47 99 |18.9 | 80.1
260 JIIIR —Z== 48 58 106 | 253 | 80.7
21 BT & 59 48 107 | 246 | 824
28 AR B— 52 59 107 | 244 | 826
29| ¥ EW 56 59 111 | 276 | 834
%30, WT #HS o4 54 108 | 23.8 | 84.2
311 Bl EF 60 50 110 | 248 | 85.2
32| GREH Bkif 5]/ 52 109 | 224 | 86.6
33 Hm A 50 59 109 | 20.8 | 88.2
34 FH E=F{ 58 54 112 1 194 | 926
3B Tk = 60 54 114 | 19.1 | 949
36 EZE BB 62 59 117 1 19.0 | 98.0
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